The graph helow shows the movementofan 2 | Data from an experimentare presented helow.
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A M 3 | A spring scale is pulled downward and readings
roaroxte are recorded
B 2 raeters
rairote Data Table
25 raete = :
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D M 1.0cm 4 N
roaroate
SNV 1.5cm 6 N
20cm 8N
25cm 10 N

Ifthe spring & pulled 3.5 cm, the spring zcale
should read

A 12N
B 13N
C 14N
D 15N




A student records the mass and volume of a
lump of clay, x. Next, a zecond lump of clay, y,

is added i lump x, and the combined(x + y)
mass and volume are recorded. Finally,a third
lump ofchay, 7, & added ip the combined(x + y]
mixture, and the ﬁml(x+ y+ z) nmass and
volume are recoeded, as shown helow
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What i the mosé lagical conclusion about the
clay uzed in this investigation?

A Lurap 7 had the greatest raass.
B Lump 7 had the lowiest denaty.
C  Lurap v had the lestest dereity.
D Lumap v had the greatest mass.
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Red-chy bricks hawe a density ofappoximately

zom-'-";-. Air has adensityofl—h%-.
m m

Which of the bllowing has the lowest mass?
A 2m® of brcks

B 4m® of bricks

¢ 60001 of air

D 10,000r® of air

SR020

Anathleiz can run 2 kilometers in 1 houc
If the athletz runs at that same average speed
br 30 minutes, how Br will the athlete travel?

A 1Zlkiloreters
B 9 kloreters
C 4.5 klometers
D 3.5 klomaeters

How much time is required for a hicycke to
travel a distance of 100 m at an average speed

oft2 2o
s

A 002s
B 30s

C 10s
D 20s

CIRIMO

Which of the following reprezents the wlocity of
a moving ohject?

A 40
B 40 rarorth
¢ a4l

D 402 rorh



Answers:

1.B

2.C

3.C

4.C

5. A

6.C

7.B

8.D



